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the levy li mit from $1.10 to $1.00 was at least presumptively
shifted to the state . To put it in technical terms, the
r eduction in the levy limit reduced school system resources f o r
purposes of the state aid formula by approximately 10 percent.
Since the state makes up the difference between the formula need
and formula resources, the reduction in resources resulting from
the reduction in the levy limit cost the state $100 million. I
r epeat t hat . The di f f e r en c e b e t ween t h e $ 1 . 0 0 l e v y l i m i t and
t he $1 .10 l e v y l i m it co s t us $1 0 0 m i l l i on i n add i t i on al s t at e
a id . Thi s i s becau s e t h e s t a t e i s co nani t t e d t o m ake up t h a t
money. Therefore, without changing the amount that can be spent
by schools, neither increasing nor decreasing the amount, the
l evy l i mi t cos t t he s t a t e $1 0 0 m i l l i on p e r ye a r b y pr o d u c i n g a
pure tax shift of $100 million from local property tax resources
t o s t a t e G e n e r a l Fu n d r e so u r ce s . Wh i l e I ' m n o t c e r t a i n we
always keep it in focus, this is not about...this $100 million
i s on e o f t h e l a r g e st s i ng l e i t ems t h a t we a pp r o p r i a t e . An d
this really isn't about what schools can spend. The particular
issue is not how much schools spend. That issue is not in the
plan anymore. I previously had that in the plan, but that's not
there. It is about how much school spending will be absorbed by
state General Funds, and how much will be funded by local
property tax resources. It's purely a question of who pays. To
get to the gist of this issue, we need to go back to the late
1990s. A t the time, we had sufficient surplus revenues that it
appeared we could take on several forms of tax relief at o ne
t ime . Fi r s t , we r e du c e d t he i n co m e t a x r a t e . We t a l k ed ab o u t
that yesterday. Secondly, for one year we reduced the sales tax
rate. Third...and we decided to fully fund the gap in formula
resources resulting from the drop from $1.10 to $1.00 in the
l evy l i mi t . As i t h ap p e ne d , t h e i mp a c t o f t h e $ 1 . 0 0 l i mi t
occurred exactly at the time that our revenue stream stopped
growing. Since it is built into the budget through the state
aid calculation, we tend to m iss the impact of the $1.00
levy...the $1.00...the impact that the $1.00 levy limit ha s on
our budget. But it 's a fact that it's $100 million. During
this year's budget process, it is essential to consider the
$100 mi l l i o n . It is essential to determine whether the
$100 million is well spent, and whether we can spend it m ore
wise l y . AM14 4 5 i s a n e f f o r t t o p u t t h e qu e s t i on o n t h e t ab l e .
I believe the answer is that we can spend that $100 million more
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